GPS PreCalculus: Unit 4: Graphing Trig Functions

Quiz Review: Graphing Trig Functions/Writing Equations
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f(x)=2sin(3x—-60")+2

Amplitude: .
Period:_[ a0
Vertical Shift: 2
Horizontal Shift_2-&
Start: 2O
End:_[4O
Increments:_}Q_

. f(x)=—cos(x + %) -

Amplitude: j—
Period: 2 -TU
Vertical Shift:_ |
Horizontal Shift ~

Start: f"T/ﬂ

End: 77’41
1
Increments: -

. f(x)=-2sin(x +60°)+1

Amplitude: =
Period: 440
Vertical Shift;__7-
Horizontal Shift =0
Start: =GO

End: 300
Increments:ﬁg

. f(x)=3cos(2x-m)+1

Amplitude: i
Period: T

Vertical Shift:__ 7
Horizontal Shift:'/{z;
Start: T/g

End: 3%
Increments::ﬁ/_«L
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5. f(x)=-2cos(3x-90°)-2 jE %

i | 7(3‘) A
Amplitude:_____l_ i T
Period:__ [ )¢/ W | =Y | +
Vertical Shift:_~ 3 6o _ﬂ:)\ ! T -
Horizontal Shift 30 | Lo ] % @ 1 '?0 '?0 e
Start:_3V 40 % N
End:_iS0_ ho | -4 T
Increments: 30 I <o _,\1 1 d’r_
6. f(x)=3sin(x+7)+]1 ,Zli?/
Amplitude: 3 . S(x)
Period: 27 -+
Vertical Shift: 1 = 1 i
Horizontal Shift ~ 1 -4 Y ;
Start: = e —
End:_ -7 P B "\Z/ﬂ
Increments: o % - il
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7. Write a negative (-) cosine equation, a positive {+) cosine equation, a negative (-) sine equation, and a
positive (+) sine equation for the following trig graph
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3. Steamboat Problem: A point on a paddlewheel of a boat turns in such a way that its distance, d, from the

water’s surface

sinusoidal function of time. At 3 seconds, the point was at its hi hegt/rﬂé’é«t above the

waters surface. The whee diameter of 20 feet and it completesar ion once every 10 seconds.
a. Sketch a graph of this sinusoid. e 20l
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